
Table of Basic Integrals1

(1)

∫
secx dx = ln | secx+ tanx|+ C

(2)

∫
cscx dx = − ln | cscx+ cotx|+ C

(3)

∫
1√

a2 − x2
dx = sin−1 x

a
+ C

(4)

∫
a

x
√
x2 − a2

dx = sec−1 x

a
+ C

∫
1√

x2 − a2
dx = cosh−1 x

a
+ C(5)

= ln(x+
√
x2 − a2) + C

∫
1√

x2 + a2
dx = sinh−1 x

a
+ C(6)

= ln(x+
√
x2 + a2) + C
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Trigonmetric Identites2

(7) cos2(x) + sin2(x) = 1

(8) tan2(x) + 1 = sec2(x)

(9) 1 + cot2(x) = csc2(x)

(10) sin(2x) = 2 sin(x) cos(x)

(11)
sin(α± β) = sin(α) cos(β)± cos(α) sin(β)

(12)
sin(α± β) = cos(α) cos(β)∓ sin(α) sin(β)

(13) sin2(x) =
1

2
(1− cos(2x))

(14) cos2(x) =
1

2
(1 + cos(2x))

2This material is provided as is without warranty or representation about the accuracy. An effort was made
to ensure correctness and accuracy of the information; however, no guarantee of the such is provided.


